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S SALp R 3ot nl S B b’_,m_—fw,qmm.wéé,; DCBA=MZ KL v g 129
1.1  |n"if" statement what happens if condition is false? -g.t‘yt&f;n.:d/gcﬂﬁr}l L 121
(A) Program crashes +H,Jj(1/;4 (B) Index out of bound error - kT i, ST st ‘_/5,::;
(C) Furthercode executes < (722373, (D) Compiler asks to change conditions PN e
2. mngt):e%f utteh%followmg statements Inii( . <a1—0 )5 (_.J 2; ety 2
. a++;
else
if (a>4)
By
(A) att+; (8) a—-; (C) Both (A) and
3. ____isthe unique identifier, used to refer to the array: 3
(\)  Datatype
(C) Array size
4. Armray can be initialized g
() Atthetimeof Dt ;
©  Before k s (B) ()
5. The advantage of using functio\"; LSS s o5
(A} Readabilty * S A
©) Al U
6. lithereare e T st o S Siiiss Sl 6
(A) One o (D) Firstand Last ST
7. Every programmitig-ia AL }é:ﬁlgwéﬂ.@ﬁ/ﬁ 7
blocks and follows some ts___ _c‘_t'w’ ——ui” B i Ludrnl p 7
(A) Programming rules (B) Syntax S
(C) Building blocks (D) Semantic rules  Jii Bl
8. Alistof words that are predefined and must not be used by S XYV I wltrer il s
the programmer to name his own variables are knownas__. B TS S Ll
(A  Autowords il (B)  Resevedwords  im-f
' (C)  Restictedwords — sWine (D) Predefined words  k@iZ_ndl S dt
9. Which ofthe following is a valid line of code , e € Ity 9
(&) int =20; (B) grade ='A'; (C) Line = This is a line (D) None of them HSE
0. Which operator has highest precedence among the following: el ;;,E/é Y1 9 Sy -10
> o !

w ﬂ ® = (€
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2. Attempt any four parts of the question. (4x2=8) S 71;&-.—_3;( 2,
() Whatis text Editor? s L et (i)
(i) Define key words. NSy NS ()
(i) Define Header Section. GSs FEFE (i)
(iv) Whatis constant? splnf=i  (iv)
(v) Whatis the purpose of "\n"? fe s " (V)
(vi) Trace the error of the following statement. #include Stdio. h _L[/‘ju-&” ek S (Vi)
3. Attempt any four parts of the question. (4x2=8) e LS Jl;;.(j)/ 3.
() Define control statement. gl )
(i) What is meant by selection statements? : .?.)1 Yo't ;r““‘/ u’w (ii)
(i)  Indentify errors in the following code If (age > 60) ; gt St (i)
Print f (*Senior Citizen") ;
(iv) What is the output of following code? £ -'«fTJ S Sits (V)
(v) What is meant by array initializati Y e P ey (V)
(vi) How is an array element accesse: "\zu‘w! T w}wé.f Sl i (Vi)
4. S fmkedS 4
() Define Loop. il )
(i) Whatis the ou efny. onsTS st (i)
Print f ("Pakistan \n") ;
}
(i) Whatis user defined function? Sl ol c,cf"gj;:lél.ﬁ/)z (iii)
(iv) Whatis function defining? el e F @ju‘ﬁ (iv)
(v) Whatis argument in function? el e d /T uf;ﬁ@ (v)
(vi) What do you know about function calling? S L._.@rg-‘ﬁ.;,f (vi)
Section-Il (92
Note: Aftempt any two questions from the following: (8x2=16) .u_'//j.-,yzﬁ.amme_,éf e SLitn s
5. X\;T:tt;sp ?Segpé ?ga\:]agrlllzbgl:data types? Explain three S e Y ’@6?{‘-”/ Vet (& 5
6.  What are logical operators? Explain with example. eSSt 1E 6
7. Write a program using FOR loop to print first five odd Jwég &z nz S f,, JFOR 2 u“’( o ¥ PR

numbers.
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S e SAyef e o3 enl S WA rer g $602-2E s DCBAMZS KL Dy 227
1. How many bytes uses a float variable in memory. -0/ Lu';( Jorgedl 11
A 3 B 4 © 5
2. Which operator has lowest precedence among the following? -2
A == ® = e +
3. Format spacifier % i show the data type: -3
(A) int B) float
4. Which of the following is the condition to check 4
factor of c? ;
A) atce== (B)
5. In if statement what happens ifgt <5
(A) Program Error
(C) Further code
6. How manyiypes o ?wru"@( dorstfe
@A) 4 D) 5
7. e b U L L e -7
AV g (D) else U
8. Charcd() {re g ——"char" 2P Chared () {remm="a';}s1 -8
function "char”
(A) Body @ o (Clamay o (D) arguments /7
9. The function which are define by a user is called __function. Y — 19?&'«.4}42;;’6” 9
(A) Builtin et (B) Userdefine fgtsy (C) Library (5.7y (D) String £
10. _are the values that do not change during the whole -fouﬁ}clii—ﬂigﬁr'ﬁz;ﬁu:’fu _10
execution of program.
(A) Variable =i (B) Strings #% (C) Constants ~¥¢ (D) Comments ua".‘.[
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2. Attempt any four parts of the question. (2x4=8) ZSSrels 2
(i) Define Program. Ay iy ()
(i) ‘What is the use of compiler? ‘e AL (i)
(ii) Describe IDE? =/ DE (i)
(iv) What is the purpose of escape sequence? Se sy v Yiv) :

V) Identify the error in the followin e o Y ol

i statemfeynt? ®  Printf ("Sum of 243 = 2+3); LI e b ()
(vi) Write the output of the following statement. Printf ("*/n**\poesr " _u:"f,_b_,;,_;ﬂd’ &5 Fit (vi)
3. Attempt any four parts of the question. (x4=8) .é‘fﬁzfjkg,é S 3.

(i) Define if - else statement?

(i) How statements are executed in sequential control.
(iif) Indentify the error in the following code segment? int x =10;

&I i el (1)
ST RUIPE Gi)
UL bt Gip

(iv) Write down the output of the following code segments. it )

(v) What is data structure? SeA e (V)

(v) How array elements are acce -‘au'c' éﬁwéublq: (vi)
4. Attempt any four parts of ¢ ion.i p -’éd’ﬂzug;d[ 4.
() What is divide and conquer e U e (i)
(i) Whatis differgnge be g X ' . 'O UL p sl i)
(i) Define byt ; - 0Pau (i)
(iv) Write i ‘ BB ()

Se et gt 3, Litss )

H
1
i
i
i

(vi) Whatisy Sl e PAdiE_dfor  (vi)

; ‘ r”.«q? )
Note:  Attempt any the following: (8x2=16) .q//j.-:.yzé.-,m,—”:.dfe.‘;‘b@;-:.; J ]
Hition? ' . b s :
5. mz:; .knowabout on? Also explain the Sestind, w‘fi' YT L P S ot 5 :

6. Define operator. Explain different es of relational s o i
operatorsl?e P - Mf@u’&;%’ﬂlifu‘ﬁ-égg/J;_/j 6

7. Write a program in C-language to print "PAKISTAN 104 F 2 et S,y i LhBe L.x Jded g
ZINDABAD" 10 times on screen using for loop. s Ll ldi i
' . <z "PAKISTAN ZINDABAD" ;,
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